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T2 E L=l Hetd e oAl 3 M12 5(E3) IR 40,000 50,000 40,000 50,000 #H&¢8l HE a2
AfolER [=R=] Metd = oAl etsAM1d 118Hs) stE 40,000 50,000 40,000 50,000 H=glg | HE8lS
ME oI =1 Mt e oAl AT 2 235-11(A2 ) AT E 50,000 60,000 50,000 60,000 H=8ls | s
g5 2 24 Hetd e oAl A3 35Es) stE 50,000 70,000 50,000 70,000 HE2US | HEBUS
SHRF 2 Hetd: oAl A EE22 16(95) & 50,000 80,000 50,000 80,000 HEAUS | HESAUS
A S El =R=] Matd = oAl AH3Z 35-6(25) stE 50,000 60,000 50,000 60,000 H=gla | s
N = L= Meted e oAl AH3Z 35-6(345) Bl 50,000 60,000 50,000 60,000 H=8l2 | HEUS
= HOkX} 2 HeEtd e oAl A[EE32E 13(83) ElE= 45,000 55,000 45,000 55000 H=8l2 | B82S
OHSHE R Hetd e oAl A ES3Z 12-15(%8) gE 50,000 55,000 50,000 55000, HEQUS | HEAUS
A El 2 Mate s oAl AlE S22 22-1(3HE) sts 45,000 80,000 45,000 80,000 H=8l2 | HESUS
22 QM oEl MEIL T O$A| ASE 231(ABE) E=R= 50,000 60,000 50,000 60,000 H=82 | HEUS
MY oE Mg e of$=A| StE M1 13(85) RS 40,000 45,000 40,000 45,000 HEQS | HESUS
AdI=sH 2 Hetde oAl A8 &322 33(%5) stE 45,000 50,000 45,000 50,000| HEgls | HE83
oezg oY HMEtE e oAl A|IHS2Z 36(2H3) IS 40,000 40,000 40,000 40,000 HEglE | HE8E
Ao [=R=] Mete s oAl A|A3Z 35-14(8HE) ElE= 60,000 70,000 60,000 70,000 HE2US | HEUS
LIEARZE D E =R=] Hetd e oAl A|HM6ZE 3 (83) ElE= 80,000 120,000 80,000 110,000 HEAUS oI5
H|L[7|OF= & O] == oH Hetd e oAl A[EM6ZE 19 (&h3) Bl 97,000 117,000 97,000 117,000) HEgl= | B2
oj =9 0| E = & o Matd= oAl A[HE32 30-7 (8H8) Bl 50,000 60,000 50,000 60,000 H=8S | HEUS
Of =3l H| x| = & =l Metd s oAl AIE M6 5 (8Ha) stE 60,000 70,000 60,000 70,000, H=sgs | HEYUS
st A H =4 et oAl Al8 M6 11 (BHS) BIES HEgls | HeoUsS SMNE
AMORT = & == Hetd e oAl A EAM6Z 23 (&3) Bl 80,000 140,000 70,000 110,000, 215} oI5
Lid| &= = =9 (HEtHE oAl A|ES3Z 35-12 &5 50,000 50,000 50,000 50,000| HEQS | BEYUS
ZHCH2 2E  |MetEE oAl S44EHT7E 11-20 BME 40,000 50,000 40,000 50,000 HEQUS | HEUS
K| @ BH s E SE Metd e oAl AlHM6Z 13(8HS) ElE= 60,000 70,000 60,000 70,000 HE2US | HEUS
Ltz EsAH == MEIHE oAl A1 44 (A3 E) Ek=R= 60,000 120,000 60,000 120,000 HEQUS | HEUAS
S HtheZ Al 2H Hetd e oAl AHS 32 30-5(83) Bl 50,000 60,000 50,000 80,000 ¥H=8la ol
MKZ & =R MEte e AAHEAM5E 16(2S) RS 50,000 70,000 50,000 70,000 WSS | HEUS
A AE| 2g Metd e oAl A|IHS 32 30-2(83) st& 50,000 60,000 50,000 60,000 H=gls | s
s E D& HEtEE oAl A[ES32 30-3(23) sts 60,000 80,000 50,000 80,000|  QIs} HES S
orzHe 2E  |MEtHE oAl AIEAM5Z 26 (BHE) ElE= 40,000 50,000 40,000 50,000 H=8l2 | B82S
MWAELS AE DE MBI oAl AB51Z 40 ot 60,000 110,000 60,000 110,000, HEUS | HSUS
Of 4 & & 2 M2 E oA A" S22 308 S) SRS 50,000 80,000 50,000 90,000| HEAS Q1A
2tAH|7FA 2 2 Metde oAl 3232 3(53E8) R 40,000 60,000 40,000 60,000 | HE2US | HEBUS
grod [=R=] MEtHE oA ZE22 48-7(B325) o 40,000 100,000 40,000 100,000 | HESQS | HESBS
M 2d MEtHd e oAl SF4Z 5(53F3) R 50,000 60,000 50,000 60,000 | H=3S | HEUS
Al o Bl 24 MEtde oAl SF2Z 8(FFS) s 30,000 40,000 30,000 40,000 | HEQUS | HEUS
ZHEALE E 2 Metgd e oAl 3R1Z 36(3F3) d2s 40,000 50,000 40,000 50,000 | HE2US | HEBUS
2 H ol Eatal k=32 HMEtE e oA Y2 20(H5S) H5s 140,000 180,000 140,000 180,000 | HIESRlS | BISElS
o2 EH =4 HEtEE oA B2te|d 99(HE ) HES 120,000 220,000( 120,000 220,000 | HESlE | HE8lS
I HAN Metgde oAl YA E 33(HES) 553 60,000 150,000 60,000 150,000 | HESBQIZ | HESBS
ol AHE = H HMete e oAl BYE 40(H5S) 455 80,000 150,000 80,000 150,000 | HESS | HSES
Of2|Of s AEl SE MEIYE oA YUZ 185(HE ) HE5S 80,000 150,000 80,000 150,000 | HE8lE | HEE8lS
HfCHR & oE MEtLE OfA| A2 213(EHSE) HE& 30,000 30,000 30,000 30,000 | HEQUS | HEUS
=i 3z oY MeEtdE oAl LEER 7538 8) +8s 50,000 70,000 50,000 70,000 | HE8lE | S
HSEHE = E=g= MeEtdE oA LEER 74(3H8) =85 60,000 120,000 60,000 120,000 | HESBQS | HESBUS
o2YADE 2 | MEHE oAl RLEER 61-14(3WE) | 85 70,000 90,000 70,000 90,000 | BIEQlE | HSBE
d3=d 2E | HEHE A 2BER 61-6(83) | 8BS 40,000 60,000 40,000 60,000 | HEGE | HSEUS
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| Hf 2t 2 & 2g MEtHE oAl ASHSH2ZE 13(35) stE 60,000 70,000 60,000 70,000 Hsgls | HadE
ot E oY HeEtd e oAl ASMHS 22 15(83) stE 35,000 40,000 40,000 40,000, Q4 HES S
EL DIA 24 Hetd e oAl ASHSH2Z 19(8S) stE 80,000 120,000 80,000 120,000| HEeUS | B82S
GIESLR= 24 MEtd e oAl ASHSHTZE 8(&Hs) stE 60,000 70,000 60,000 70,000 HESUS | HEUS
22E 2 E Metde oAl FESYE 13-15(L2FH) stE 60,000 60,000 60,000 60,000 H=8ls | HaUs
JEH 2 Hetd e oAl ASMS/U1E 6-4(83) stE 30,000 40,000 30,000 40,000 HaEgls | B2
B&PZ &l 2E  |MEPHE OjFA| MAR15-4(8HE) stE 50,000 70,000 50,000 70,000 Hsgls | HEdE
D E A 2teAH| O 2E |MEtHE oA 522 30(HS) EIES 50,000 70,000 50,000 70,000 HE2US | HEBUS
E=S DN g 2E  |MEHE oA ASMSE1E 26(25) EIES 50,000 50,000 [Ys
Sl oE (MY E oAl sHE22 15(8Hs) stE 50,000 50,000 50,000 50,000, HEgls | HE8S
o 2 R (MEtHE oAl StEM1E 16-6(2%3) Bl 50,000 60,000 50,000 60,000 H=8S | HEUS
HEZHE 2E |MEHE oA ASMSEZE 14-1(ES) s 25,000 25,000 25,000 25000 HESQUS | HESUS
B S = g (MY E oAl sHE2 23(8HE) st& 40,000 50,000 40,000 50,000 H=8lg | HE8S
THE B & SHE MR oA MAR 41(3HS) stE 50,000 70,000 50,000 70,000 Hsgls | HEUS
6&9 2l [=R=] Hetde oAl J43Z 21-10(2HE 3) otEE 50,000 60,000 50,000 60,000 H=8S | HE2US
FLzg 24 Meted e oAl QA3 21-6(2HES) oEE 50,000 60,000 50,000 60,000 HEQUS | HESUS
SHEM Y 2 E HEtEE oAl GA3Z 21-3(2HES) otEE 60,000 80,000 60,000 80,000 HEQS | HE2US
2|2 A == HMete s oAl HA3Z 24-7(3HALE) CIPSES 35,000 35,000 35,000 35000, HEQUS | HEUS
S "y 2 HEtE T oAl GABZ 2421 S) oIS 50,000 60,000 50,000 60,000 HEUS | HESAUAS
ofz| 2 2 HEtHE oAl GA3Z 21-4(2HE3) oY= 50,000 60,000 50,000 60,000 H=gla | s
X|O| F QI D& HEtE e oAl G432 24-8(2tES) otEE 50,000 60,000 50,000 60,000 H=8l2 | HEUS
OfEF QI 2 Metde oAl M43 21-5@HS) otEE 50,000 60,000 50,000 60,000 HEUS | HESAUS
of| A 24 HEtd e oAl FH6Z 43-4(H33) MEAS 50,000 70,000 50,000 70,000 WSS | HEUS
7tete g 2g HMEtEd e oAl FM6Z 42-4(M33) MAUS 40,000 50,000 40,000 50,000 H=8l2 | B82S
MERE oY Metede oAl FM6Z 42-3(M3S) MAS 50,000 50,000 50,000 50,000 H=gl2 | HESUS
2ol 2 Hetd e oAl G4 Z 8-4(2HES) oS 50,000 60,000 60,000 60,000{ QI HE a2
ML AR ol oH Meted e oAl QA3 21-17(@HES) otEE 50,000 60,000 50,000 60,000 HE8S | HE2US
YLEQITH 2 E Heted e oAl J432 21-11(3HES) otEE 110,000 110,000 110,000 110,000 HEglE | HE8lS
ojAaKEM NS E == HMatt: of2A| AA3Z 21-15(3H&HE) s 60,000 80,000 60,000 80,000 HEQUS | HEUS
SEgap g HElHE oAl 258 190-6(253) =TS 60,000 80,000 60,000 80,000 H=gls | HE8lE
ofgj|Az & o HMEtEE oAl 242106, 65,75 (25 S) ZTE 50,000 60,000 50,000 60,000 H=8l2 | HEUS
EZAERE 28 | HatEE oA OfM1R 95-9(0M5) OlM S 50,000 60,000 50,000 60,000) H3BlE | HSBS
R&BH|=L| AT H == HEtdE Al 252 58(2F3) ZTE 75,000 95,000 85,000 110,000 Q4 ol
A== 2 E HEtEE oAl 0212 39-14(0M3) M= 60,000 70,000 60,000 70,000, H=sgs | HEUS
SOl F ol & L= HMEtHE oAl 22122 84(2F3) ZTE 50,000 60,000 50,000 60,000 H=8l2 | HEUS
SRS g 2 HMetd = oAl 6212 43-17(0 A S) qMs 50,000 60,000 50,000 60,000 H=8S | HEUS
MJZHE 2 Hetd e oAl 2222 76-1(253) | =T 60,000 80,000 60,000 80,000 H=8lg | HELS
i E=a= [=R=] HMEtEE oAl 0212 43-21(MS) M= 50,000 80,000 50,000 80,000 ¥=gla | Ha2s
g2 L=l Metd = oAl 0212 43-13(0 A S) TTE 50,000 60,000 50,000 60,000 H=8Z | HEUS
AREoH 24 HEE3HE 69(HME) oME 50,000 60,000 50,000 60,000 HEQlS | SRS
G2 H 2 E O 212 43-7(0{ M 5) qMS 50,000 60,000 50,000 60,000 HE8S | HE2US
K2 2E et oA O2E22E 33(2T3) =TS 50,000 60,000 50,000 60,000 H=8l2 | HEUS
252 2E  |MEtHE oA 022222 65(2T3) ZTE 50,000 60,000 50,000 60,000 H=8S | HE2US
k=== 2 |MEtHE oA G112 95-8(0{ A5 CPSES 50,000 60,000 50,000 60,000 H=8S | HE2US
Kotz & 2 (NMEtHE oAl S4ET7E 11-1084ts) | S44E 50,000 80,000 50,000 80,000 ¥=gla | s
St L2 o (MR oAl S4EHT7E 11-1184s) | S4E 35,000 40,000 35,000 40,000 HEglZ | HS8E
LIZ2|HM HM | MEEE oAl SAS ZIFS|OHE 68 SME 80,000 180,000 80,000  180,000| HES | HEYS
ZEZY 2 (NMEtEHE oAl SAHEH6Z 11-18(84ts) [ S4& 40,000 60,000 40,000 60,000 H=8la | Hada
agze Y (HElHE oAl SLHEH8E 17(34S) N 40,000 50,000 40,000 50,000 H=8l2 | B82S
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97 AHOH XL ADH SE  |MEtHE oAl S4HE8E 17-15(848) | s4s 72,000 110,000 72,000 110,000 Hs =
98 Woj| =2 & 2 Metg = oA S4HE7Z2 11-15(84H8) S 30,000 35,000 30,000 35000 =82 | HEUS
99 HFZE 2 Metg e oA S4HE7Z 11-24(844H8) SMS 35,000 40,000 35,000 40,000 HEgls | B82S
100 [od 2 (FEtHE oAl SLtHEZ 7(E4S) sis 50,000 60,000 50,000 60,000 HsoUs | HEUS
101 o7& 2 Hetd e oAl SUEHT7Z 8(348) atts 40,000 50,000 40,000 50,000 H=gl2 | B82S
102 NeADHE 2 Hetd e oAl SAU4EHT7Z 13(84S) NS 50,000 60,000 50,000 60,000 H=8S | HEUS
103 LN 24 Metde oAl 84HEH8Z 11-16(84H8) Sits 30,000 35,000 30,000 35000 H=gla | Hsdla
104 HAE OfF 28 |HEtHE oA SLHEZE 13(34S) N 120,000 150,000 120,000 150,000 HEglg | HE8lE
105 H L A2 E 2E |MEtHE oA S4td6ZE 17-7(84tHS) NS 35,000 40,000 35,000 40,000 HEglZ | HS8S
106 Of2f 2 & 2 |MEtHEE oAl S4tH6ZE 11-15848) | 4 40,000 50,000 40,000 50,000 H=8l2 | B82S
107 QELHNM HM |t oA StEZ 78(33S) 53t 60,000 100,000 60,000 100,000 HEglg | HE8lE
108 Of = H| X| 4 HM |HEtHE oA StE R 64(52ts) 5ats 70,000 110,000 70,000 110,000 HEglE | HE8lS
109 Ctotm &l 2E (FEtHE oAl S2E22 13(8323) 3%t 30,000 50,000 30,000 50,000, Hs8ls | HEUS
110 dE2 Hdsd =@ ([HEtEE oAl S2tH2Z 20(52Hs) 55 80,000 80,000 MESUS
111 SEoi | SH  |HEtdE oAl REER 20(33HE) S2E 80,000( 120,000 70,000 135000 I3 ey
112 Ol=INNAILESI2A | A2ESex (MEfHE OfA| S2tH22 16-1(528) | 35 30,000 50,000 30,000 50,000 #HEElS | BISEUS
113 WD H 28 |MeEtgk A=Al S22 8-1(5%s) S 30,000 50,000 30,000 50,000 #HEElS | BSEUS
114 CHEAAESRA 22 (Hetdk oAl S2E2E 15-1(8%s) | s@s 35,000 50,000 35,000 50,000 #EEE | HEEUS
115 2|d2E 28 |[Hetdk oAl 24522 15(5%Hs) Sets 40,000 70,000 40,000 50,000( #EE& st
116 Loy 2E (MEIEE oA B3E2E 25-1(8%HE) | 38E 30,000 50,000 30,000 40,000/ HZUS oI5
17 ZEARE 2E |HEEE A SER 87-1(328) S5 35,000 50,000 35,000 50,000 HERS | HSHUS
118 =225 HM  (MEtHE oAl S0E AUFZE 9 Stt= 70,000 110,000 70,000 130,000 HEAUS ol
119 o =& HY | Hetgk oA St ZEHO2R 85 =its 50,000 70,000 50,000 70,000, Es8ls | HEElS
120 SH XA AHHM HE  |HEtHE oA 4T TIFsHeHE 76 =4S 75,000 155,000 75,000 155,000 HEgs | HE8s
121 CEHETHE S |HEtHE oA S4E 4E5letz 93 =S 50,000 120,000 50,000 120,000 HEglEg | HE8lE
122 2tojCts &l SHE  |HIIHE oA SALS ZL 2 11 EAMS 100,000 250,000 100,000 310,000| H=US Ql4
123 Yoz ™ HM  (HEtHE oAl 245 TFtZE 9 =ME 89,000[ 139,000 85400( 133,400 QI35 oI5
124 AFeod HM |MEtHE oA S4tE 4EH42 53 =i 50,000 50,000 50,000 50,000 H=gl2 | B82S
125 HEMHEMN HM Hetd e oAl AR 2(F%S) 5t 210,000 280,000 210,000 280,000 HEgla | HE8la
126 X| = HM HAM Hetd e oAl OF=AE2 1(52s) ECIE= 160,000 200,000 160,000 200,000 H=9l2 | HESUS
127 o= &2h153 HM MEtEE oAl O|=ABHE 20235(525) | B35 230,000 380,000 230,000 380,000, HEgs | B2
128 Ctojotz & 2 |HEtHE oAl REsH1Z 6-3(13) mE= 40,000 70,000 40,000 70,000 HEgE | HE8la
129 A7H0| 2 2 Hetd e oAl WSEH1Z 5-518) mE= 60,000 80,000 60,000 80,000 H=8lZ | HESUS
130 W7t 2= M HM |MEtE T oA StEE 66(E3HSE) S3ts 144,200 192,200 144,200 211,400| HESAUS ol
131 ofzEgg == Mt e ojAl EEHZ 6-1(1S) mE= 60,000 70,000 60,000 70,000, HEQUS | HEUS
132 2| 28 | Hetdlk oA AsEH1ZE 6-12(Us) s 50,000 80,000 50,000 80,000| H3ElE | HEES
133 SETHEL Y | MEtHE oAl Ol ABRE 135(F3E) | B35 99,000( 220,000 99,000(  220,000] HEYUS | HSEUS
134 LAAESIRA Axgstes | MEtHE OlFA| S22 2-2(8Y5) TYS 25,000 25,000 25,000 25000 HEBlE | HEUS
135 S OHAHCHE A HM  |HetHE oAl OB E 159 (BYSE) | TYS 150,000 240,000 150,000 240,000 HEgla | HE8S
136 QO|Ct HAE BF2A |HAAESISA|MEILUE O|$A| S22 18(1AE) AR 25,000 25,000 25,000 25,000 Hs8ls | Hsdla
137 eMpd 2 |MEtHE oA SYE 72-21(BYS) SUS 50,000 70,000 50,000 70,000 HE2US | HE8US
138 o 2= 0Tl A HM |MEtd T oj3A| SR E 60 (B3} Ssls 120,000 220,000 120,000 220,000 HEgls | HEbla
139 odst7| 224 Haestes | MEtdE oAl UESH1ZE 5-44L3) me= 60,000 90,000 60,000 90,000| HEAUS | HESAUS
140 EMzg 28 |MEtH kR oAl D|E9Z 10(0|ES) OjEs 40,000 50,000 40,000 50,000 H=gl2 | HE8S
141 T2 2E |MEHE oA B4 53(LES) QES 40,000 50,000 50,000 65,000( QI ol
142 =Ho| 2 & DY (NMEtHE oAl 244 558 S) RUSE 40,000 50,000 50,000 70,000 QA ol
143 TR 28 |HEtgE A LE4Z 5428 S) YS 40,000 50,000 40,000 50,000 HEBlE | BESES
144 AEHZZ 2 | HElEE O 2B4Z 59(R2ES) RS 40,000 40,000 40,000 50,000 HZGUS ol
145 olste AR 28 | HEt"E oAl RLE4Z 61(2ES) 2YE 40,000 50,000 50,000 60,000  2l& old
146 OiE|Z & 2E | MEIHE O 22122 12-6(2ES) S 40,000 50,000 50,000 70,000 ol¢ oly
147 EAE 23 | HEtEkR oAl RE2Z 12-428S) RYS 40,000 50,000 70,000 90,000  2l& ol
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148 of =S ol 2 (MEtHE oAl E2ZE 12(RES) QEE 40,000 50,000 50,000 60,000 QI Q1A

149 sta o E 2E |MEtHE oAl 2E4Z 48(E ) REUE 40,000 50,000 50,000 60,000{ QI ol

150 EQADHE =)= Metde oAl 2932 121249 3) zHS 40,000 50,000 40,000 50,000 H=8l2 | B82S

151 caigHE =R Metd = oAl EE32 141(EYS) zHS 40,000 50,000 40,000 50,000, HEgls | HE8la

152 £l X o &l =R Hetd e oAl 2532 6-1(z 9 8) zHS 40,000 50,000 50,000 60,000, QI olat

153 AEZH [=1=] Metd e oAl 2932 6-21(253) zHS 30,000 30,000 30,000 40,000 HSAUS ol

154 CCK oH Hetde oAl QE2Z 9 QS 30,000 30,000 30,000 30,000 HEQUS | HESUS




